@

J Staff Selection Commission

Ssﬂ

(Government Of [ndia)

Delhi Police Constable Online Exam Paper 06.12.2017 Shift-01

REGISTRATION NUMBER :
EXAM DATE : 6-December-2017
EXAM NAME : SSC Examination TOTAL MARKS : 100

QID : 1 - In the following question, select the related word from the given alternatives.
Spectacles : See : : Pencil : ?
FErmforfar wr % o mr Gt ® 1 st e wr g

SN § AwAT ¢ 2 A ?
Options:

1) Lead

e

2) Write

fPrmAT

3) Paper
A

4) Round
ey

Correct Answer: Write
v

Candidate Answer: Write
FereT

QID : 2 - In the following question, select the related letters from the given « ternat., es.
FROM : MYVT : : TEAM : ?
Fraferfiaer s % Ry Pt ® 7 el e w5 gt

FROM : MYVT : : TEAM : ?

Options:

1) ALHT

2) BMIV |
3) DKIA

) HVAK

Correct Answer: ALHT

Candidate Answer: DKIA

QID : 3 - In the following question se w» t the related number from the given alternatives.

192:291::316: 7
Fraferfer wr & Fr o Freedi & @ wefie s o gfEm

192:291::316:7

Options:

1) 631

2) 136

3) 163

4) 613

Correct Answer: 613
Candidate Answer: 613

QID : 4 - In the following question, select the odd word from the given alternatives,

o g & Fr o et # # Frew orer w1 R

CANDIDATE NAME :
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Options:
1) Mustard
2) Wheat

i)

3) Crop

T

4) Rice

ATHET

Correct Answer: Crop

AT

Candidate Answer: Mustard

o

QID : 5 - In the following question, select the odd letters from the given alternatives.

Fraforfer sor 7 For o Breeat % & B seaet w1 R
Options:

1) AGMS

2) HNTZ

3)CloZ

4) DIPV

Correct Answer: CIOZ
Candidate Answer: DIPV

QID : 6 - In the following question, select the odd number pair from the given alternatives.

o w5 for o Prpeat = 7 By s gee w7 gF= ™
Options:

1)9-23

2)2-16

3)4-14

4)11-25

Correct Answer: 4 — 14

Candidate Answer: 4 — 14

QID : 7 - In the following question, select the odd number pair from the gi. « alternauves,

FrerforfRrer ser 7 oy Rrpeat & # By s g 57 g
Options:

1)73-21

2) 56 - 30

3)53-15

4)22-6

Correct Answer: 22 - 6

Candidate Answer: 73 - 21

QID:8-
How many triangles ara ia~ a in the given figure?

& g gl F fa= ¥ P ¥




Options:
1)5

2)6
3)7

4)8
Correct Answer: 6
Candidate Answer: 6

QID:9 -
How many rectangles are there in the given figure?

& 8 Fpfa & fraa s ¥

Options:
1)8

2)9
3)10

411
Correct Answer: 10
Candidate Answer: 8

QID : 10 -
Which of the following cube in the answer figure
CANNOT be made based on the unfolded cube in
the question figure?

Peatafla 3ot smpla & @ =e @ g= By amw
war gl F ¥ g ua T af qe e 51 gwhar?

[XJ‘H :




Options:
1)

2)

3)

4

Correct Answer:

Candidate Answer:
L]

QID : 11 -
Three positions of a cube are shov'n below. VWhat
will come opposite to face containi g A’?

A o ousm A DF oo g o ¥ oA
GF Holdh & [aUdd FAT HREOT?

Cc Z F
A 2 C B Z "
Options:
1)F
2)Z
3)N
4B

Correct Answer: Z
Candidate Answer: Z



QID:12-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

= & v Felanl F fGEw IgER FE= @
Azt BEor TYUT Wioley & AG g% FE 39X IR
Star Rarg 2o

2)

3)

4)

Cormrect Answer:

©° O
o)
O o

Candidate Answer

© O
O
O




QID : 13-
From the given answer figures, select the one in
which the question figure is hidden/fembedded.

g1 I8 3eY Hpfodl # ® 36 36 HPa @ Ifw
form 3 war sl & &

3)

4)

Cormrect Answer:
| ]
|
|
[ 11
Candidate Answer:

[l
=
LIl




QID : 14 -
If a mirror is placed on the line AB, then which of the
answer figures is the right mirror image of the given
figure?

Ify wF ador W AB Y@ UT I@T S, ar & uE
3o depfaat # ¥ wla o angfa wer e &
HEr guuT ufatase gofre

o

Options:
1

2

4

:
z
g
g

oK

Candidate Answer:

23




QID : 15 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Teafafea v # v or fawear # & ww =g
(?) & TUATT UT Y AT T F gAm

3 5 3
(5|20 2] [6]19][1] [8]72] 4]
g 4 7
Options:
1)42
2) 44
3) 40
4) 46
Correct Answer: 44
Candidate Answer: 42
QID : 16 -
In the given figure, how many bags are brown but
not large?

& oré gl #, et der oy ¥ g @ &t ¥
|

Bag/

Laoe |
EEL
Options:
1)91
2)37
3) 128
4) 146

Correct Answer: 37
Candidate Answer: 128

QID : 17 - From the given alternatives, select the word which can be formed using the letters of the given word.
PASTURIZATION

et Rrereat # #r =g s R A Bo o s & s T = S A A e g

PASTURIZATION



Options:

1) NATURE
2) POSTER
3)START
4) STRAPED

Correct Answer: START
Candidate Answer: START

QID : 18 - Identify the diagram that best represents the relationship among the given classes.
Yellow, Blue, Man
=z A A A A= By = ¥ A F Ay e ad B s

rar, e, qzw
Options:

D
Z)O

1D,

00
®

©

Correct Answer:
Candidate Answer:

QO
O

4)




QID : 19 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance frem commonly known facts. Read all the conclusions and then decide which of the given conclusion logically follows the given statements,

Statements:
L. All trousers are white,
1I. All white are colour.

Conclusions:
I. Some white are trousers.
II. All colour are white.

i R e F o e o T A T et O e g et B $ Fro e wmt s el s, = e A st et 9 P gn wdt Freet oy s e
frrffea w+ f o w9 freed, o o A & e o7 gieRmTE #)

YT

L 7t T A %

11, =t 7o <1 31

et

L T% 7= T &)

I1. =t 71 ok 31

Options:

1) Only conclusion (I) follows.

T et (1) == 3

2) Only conclusion (II) follows.

T e (1) =1 21

3) Both conclusion follow,

=TT #F et w1

4) Neither conclusion (I) nor conclusion (I1) follows.
= A Frowt (1) = & Pt (1) i i

Correct Answer: Only conclusion (1) follows.
e Freret (1) =t 01

Candidate Answer: Both conclusion follow.
=t # Fret =l i

QID : 20 - In the following question below are given some statements followed b son 2 conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then dev 4~ wh h of the given conclusion logically follows the given statements.

Statements:
L. All vehicles are tables.
II. No vehicle is chair.

Conclusions:

I. Some vehicles are tables.
1. Some tables are chairs.
II1. All vehicles are chairs.

ﬁ&"mwxﬁ‘wm#ﬁ%mﬁmﬁ“m:ﬂ_m Forer T ) P T T T AET WA, TR I AT = A=At 7 P gn et Freer oy o e
P % fir B o @i @ Prewed, B wunc a0 o e g )

YT
L #rdy miEat #w #
11, =1 Tt =i = 31

e

L 7w miEat w5 #i

11, 5% W et &

L #reft i i %1

Options:

1) Only conclusion (L) follows.

e A (1) w31

2) Only conclusion (II) follows.

T A (1) o1 21

3) Only conclusion (II) and (III) follow.

e Pt (I1) =rar (II1) #rft 21

4) Neither conclusion follows.

g Pt wft wli

Correct Answer: Only conclusion (I) follows,
T Pt (1) w3

Candidate Answer: Only conclusion (II) and (III) follow.
Hper Fereet (I1) #nar (I01) ot 1



QID : 21 - L is the daughter of P. P is the brother of M. M is wife of J. How is M related to L?

L Pl &1 P, M wr s & M, 3 o wsft &1 M, L 71 P srere wieifrr 97
Options:

1) Mother

AT

2) Aunt

T

3) Sister

Erel
4) Wife

o=t

Correct Answer: Aunt

EEy

Candidate Answer: Mother
ATAT

QID : 22 - Pointing towards a man, a woman said, "He is the son of my sister’s mother's only son." How is the woman's brother relates " that ~an?

T T T AT A A g, U WiEe 7wy, Ay 5 g e F vy 9 v Oy ) 9@ew 7 9rg 7w g 7 e awe wwtia 6

Options: =—
1) Father

E{

2) Sister

4

) Wife

o34

) Daughter

ES

orrect Answer: Father

ﬂ)ﬂ

Candidate Answer: Daughter

Ed

QID : 23 - A person buys 10 articles at rate of Rs 5 each and 30 articles at the ra' = ot Rs 10 each. What will be the average price (in Rs) per article?

T B 10 AE G Ae 5 F F7 =9 9 AT 30 AR A0 AFg 10 7 HT =TT mE 0 F) weww " FT AT 0 (5 ) ¥ g

Options:
1)8.75

2)9.25
3)9.85

4)8.5
Correct Answer: 8.75
Candidate Answer: 8.75

QID : 24 - P can do a piece of work in  da, ~ ana Q can do the same work in 21 days. How many days will both take together to complete the same work?

P wrs ot 7 Bt F wewwAr g2 o © A wrd w21 R § o wmwer #0 = e Feree 9l o ger e #§ fre e e

Options:
1) 4.75

2)5.75
3)6

4)5.25
Correct Answer: 5.25
Candidate Answer: 4.75

QID : 25 - In the given question, there are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

o T ey H, | Arg et £ s § Frers w1 e o o & s o7 mave & A v wEw P ) fre a0



Options:
1)

2)

3)

4)

Correct Answer:

s

Candidate Answer:

QID : 26 - In the given question, there are four figL =< 0. an out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

T iy s , =T vt € g § T 7 ol Sl v 1o i e 0w A § Ao v wEer fe g fre st giEm



Options:
1)

—;
—

2)

B9
—

3)

.
(™

4)

—
=

Correct Answer:

=
===l

Candidate Answer:

[==1
D]

QID : 27 - In the given question, there are four figL =< 0. an out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

B oy , =7 Aty & v T g & o o F arare o7 7 @ A v wEw fae ) e vt w3



Options:
1)

2)

3)

4

=
S
4
1

Correct Answer:

H

Candidate Answer:

T_J'

QID : 28 - In the following question, select the mis. « n. nber from the given series.

21, 24, 26, 27, 30, 32, 31, ?
et s 7 o Rt ® 7 o 4w w1 Sm

21, 24, 26, 27, 30, 32, 31, ?
Options:

1) 42

2) 34

3) 33

4) 46

Correct Answer: 34
Candidate Answer: 46

QID : 29 - In the following question, select the missing number from the given series.
3,7,16,32,57,?

Frafafir s & R my Pt & & o A% wr i

3,7,16,32,57,7?

Options:
1) 68

Cormrect Answer: 93



Candidate Answer: 68

QID :30-
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

freaferfaT wy & for o feedt & & wy foE
(7) & FUTE UT HA AT Hpid B A

| |A ?

e
O

2)

3)

4)

O

Cormrect Answer:

Candidate Answer:




QID :31-
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

Peaeile ug & fu aw Reeut & & ww Rg
(?) & FUE W HE Al Hpd B I

ek

A

O

Options:
1)

2)

3)

4)

8| 9| O] B.

Correct Answer:

O

Candidate Answer:

O




QID:32-
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

e g F fr mr et 3 ¥ uw R
(?) & T Uy A arelt HpfA W I

&

N

&

w
—

F

=

s

3
8
E
2
&

i

Candidate Answer:

QID : 33 - In a certain code language, "FROM" is written as "6539" and "NOISE" is written as "73482". How is "ROSE" written in that code language?

e Farfre #re wror &, "FROM" 77 "6539" 741 "NOISE" %7 "73482" forar wraw ) =77 w1z wrar # "ROSE" %7 iy were Fera smom?

Options:
1) 8253
2) 9583

Correct Answer: 5382
Candidate Answer: 5382



QID : 34 - In a certain code language, "FILM" is written as "40" and "SHOT" is written as "62". How is "TAKE" written in that code language?

e fAfer 7= 9T #, "FILM” =7 "40" 747 "SHOT" =71 "62" o Arar 21 =77 7= 91 # "TAKE" Fr fwr were formm wmwm?
Options:
1)37

Correct Answer: 37
Candidate Answer: 40

QID : 35 - In a certain code language, "TRUNCATE" is written as "XQYMGZXD". How is "APRAISE" written in that code language?

e fAfenr = @, "TRUNCATE" #7 "XQYMGZXD" forar wram #) =07 #r= W 7 "APRAISE" 7 e swre fora wromm?
Options:

1) EOVZMRI

2) ZQSBFDA

3) ZVOEIR)

4) DPRLOPN

Comrect Answer: EOVZMRI

Candidate Answer: ZVOEIR]

QID : 36 - Which of the following organisations is known as World Bank?

Frafafirs & & £ a7 @ fpa #F F =7 § |Er A
Options:

1) IMF

2) ADB

T

3) IBRD

ArEATATTE

4) UNESCO

TET

Cormrect Answer: IBRD
AEEATATCET

Candidate Answer: IMF

QID : 37 - Economic planning is an essential feature of which of *-e follBwifig economies?

A e frer st £ o staErd EdrEr 327
Options:

1) Socialist Economy

FETHAATST =TT

2) Capitalist Economy

IS AT

3) Dual Economy

=AY wd=TEET

4) Mixed Economy

e spf=Ee -

Correct Answer: Socialist ELs "om .
FHTAATET TT=TeT

Candidate Answer: Mixed Economy

Tt sieTaea

QID : 38 - How many banks were nationalised in 19697
1969 # G &= =1 T B T a2

Options:

1) 10

2)12

3) 14

4)16
Cormrect Answer: 14
Candidate Answer: 14



QID : 39 - Which of the following is the difference between total receipts and total expenditure?

TAT A T AT T WA AT For = F AT A=
Options:

1) Fiscal Deficit

TTAFRTTE ST

2) Budget Deficit

FAZ AT

3) Revenue Deficit

A T

4) Capital Deficit

T =TET

Correct Answer: Budget Deficit
TAZ AT

Candidate Answer: Revenue Deficit
T T

QID : 40 - What is the official language of Indian state of Nagaland?

ST T AT # AT T = 3
Options:

1) English

EoE

2) Naga

AT

3) Meitei

fersd

4) No option is correct

=% e 7t 7 &
Correct Answer: English
S

Candidate Answer: Meitei
frr

QID : 41 - How many spokes are there in the Ashoka Chakra depicted on the Nat ona Flag of India?

AT ¥ TEE AW v St aeiw =% § e At 82
Options:
1)36

2)24
3)16

4)32
Correct Answer: 24
Candidate Answer: 36

QID : 42 - Which Article of the Indian . «=st “ution provides for the institution a Panchayati Raj?

ST AT T AT Ag=EE A T v A g
Options: = T
1) Article 38

A== 38

2) Article 39

AT 39

3) Article 40

=T 40

4) Article 41

FT=aE 41

Correct Answer: Article 40

= 40

Candidate Answer: Article 38

a== 38
QID : 43 - Where is the 'abolition of untouchability' articulated in the Constitution of India?

A F AR # g T e AT W



Options:
1) Article 14
= 14
2) Article 15
2 15
3) Article 16
F=E 16
4) Article 17
ag=E 17
Correct Answer: Article 17
a= 17
Candidate Answer: Article 14
=T 14

QID : 44 - Where was the capital of Surasena Mahajanpada?

AR FETAATE T AT w7 of?
Options:

1) Viratnagar

e

2) Taxila

FATIET

3) Kashi

Earliy

4) Mathura

wT

Correct Answer: Mathura
b=l

Candidate Answer: Viratnagar
e

QID : 45 - During reign of Harsha, the Kannauj assembly was held to publicise the doctrines of v. 'th of the following sects?

T F A F A, T ey Fratatee A F frvEr w5 = 57T ¥ T aete G rq'r'ﬂ‘?

Options: =
1) Hinayana

2) Mahayana

AT

3) Shwetamber

AT

4) No option is correct

1% e it A 7

Correct Answer: Mahayana
T

Candidate Answer: Mahayana
AT

QID : 46 - In 1923 by whom Swaraj Pamy *«s founded?

1923 ¥ i gy wrw e e oS T
Options:
1) Abdul Gaffar Khan and Vithalbha Patel
ST TPEIT AT A7 Figerars gee
2) Gandbhiji and Jawaharlal Nehru

7 HIT e A
3) Sachin Sanyal and Jogesh Chatterji
A AT A FErer q==
4) Motilal Nehru and C.R. Das
AT A W A A, =
Correct Answer: Motilal Nehru and C.R. Das
wrefferTer AgeE AT H A =
Candidate Answer: Abdul Gaffar Khan and Vithalbhai Patel
HEZ TR AT AT PrgenTrg a2

QID : 47 - During the reign of which Viceroy of India, the elections were held for the first time in 11 Indian states?

B =TT ¥ oA & S ST & 11-TeEt W wgelt @ A e w82



Options:

1) Lord Linlithgow

AT AT

2) Lord Mountbatten

e

3) Lord Curzon

e FAT

4) Lord Irwin

AT e

Correct Answer: Lord Linlithgow
ATE AT

Candidate Answer: Lord Irwin
ATE T

QID : 48 - Where is the largest concentration of stupas in India?

AT W T T HE T AT T 32
Options:

1) Himachal Pradesh

rmT=er S

2) Bihar

Forge

3) Madhya Pradesh

T TET

4) Uttar Pradesh

T AT

Correct Answer: Madhya Pradesh
e T

Candidate Answer: Madhya Pradesh
T AT

QID : 49 - Thaipusam festival is celebrated by which of the following communities?

TR =TT et o f Fr wEr & v v A 8
Options:

1) Malayalam

e

2) Telugu

L

3) Marathi
WA

4) Tamil
Ar#rer

Correct Answer: Tamil
ArHer

Candidate Answer: Malayalam
AT

QID : 50 - Which of the following states -3 *he largest forest area?

Fraffaa &7 e FraAEifE = v E?

Options:
1) Bihar

2) K.;arnabka
FAEE

3) Madhya Pradesh

T AT

4) Kerala

=

Correct Answer: Madhya Pradesh
e TR

Candidate Answer: Karnataka
FAEE

QID : 51 - Ken River is the tributary of which of the following river?

e A Frmterrae W o Ry e w32



Correct Answer: Yamuna

g

Candidate Answer: Betwa
A

QID : 52 - Manipur has common boundaries with which of the group of state?

wirgT £t fr T & g F AT AT e 37
Options:

1) Nagaland, Mizoram and Meghalaya

2) Nagaland, Mizoram and Assam

AnmaE, ey o g

3) Nagaland, Meghalaya and Sikkim

4) No option is correct

1% e wft 7 &

Correct Answer: Nagaland, Mizoram and Assam

Candidate Answer: Nagaland, Meghalaya and Sikkim

QID : 53 - The Himalayan mountain range is an example of

EalEE ke e o I 1 -k -
Options:

1) Fold mountain

AT T

2) Rock mountain

T TE

3) Block mountain

=ATF TEA

4) Volcanic mountain

FETOTHET T

Correct Answer: Fold mountain
Ao T

Candidate Answer: Block mountain
=T TEA

QID : 54 - Which among the followira s_ites ' India produces highest wool?

A H P Tre H S i T ;=

Options:
1) Haryana

2) Rajasthan

AT

3) Madhya Pradesh

T AT

4) Jammu-Kashmir

AY-FoHT

Correct Answer: Rajasthan

AT

Candidate Answer: Jammu-Kashmir
AY-FoHT

QID : 55 - Which one of the following is an element of weather?
TPrer # #r # 1 Hrerw w1 U e 37



Options:

1) Wind

=T

2) Temperature
ATTHAT

3) Humidity
AT

4) All options are correct

w1t Py et

Correct Answer: All options are correct
1y P T B

Candidate Answer: All options are correct

arsfy P T

QID : 56 - What is the scale used for measuring the intensity of the earthquake?

g S ftmrar F=7 AvrT (F) F R g e s e
Options:

1) Metric Scale

ifer fmr (Fe)

2) Richter Scale

e T (7)

3) Epicentre Scale

ufidze frare (Fer)

4) Quake Scale

T AT (7F)

Correct Answer: Richter Scale
o framr (FFeT)

Candidate Answer: Richter Scale
Fr T (7)

QID : 57 - Which one of the following has the highest value of specific heat?

Frafafir % & frerft fftre sy a7 w wEiveE gar 2

Options:
1) Alcohol

2) Methane

e

3) Water

Tt

4) Kerosene

Fordt Fer

Cormrect Answer: Water
T

Candidate Answer: Kerosene

o Fer
QID : 58 - Which of the following quaniuy = ains constant when an artificial Satellite revolves around the Earth in circular orbit?

T FET T et F A A o v T H qwEr 3w A v e g
Options:

1) Linear Velocity

e A

2) Angular Momentum

Frofer e

3) Angular Displacement

4) No option is correct
1% e it 78 ¥
Correct Answer: Angular Momentum

Fiftr aifer

Candidate Answer: Angular Displacement

FiT FEearT

QID : 59 - Which among the following lens is used to correct Presbyopia?

weTEgE (SrerarEiET) w1 i wer % fenn Frefofir R de s g R amer §2



Options:

1) Concave

AT

2) Convex

=

3) Cylindrical

AT

4) Bifocal

AR

Correct Answer: Bifocal
ATRTFE

Candidate Answer: Convex
=T

QID : 60 - Which among the following blood protein regulates the amount of water in plasma?

Frafafar % 1 Fr A7 7= T ey % G 7 W w17 Gt e 3

Options:
1) Albumin

2) Globulin

3) Fibulin
e

4) No option is correct

1% e wft 7 &
Correct Answer: Albumin
et

Candidate Answer: Fbulin

FgferT
QID : 61 - Which one of the following is a mixture of carbon monoxide and hydrogen?

AT 7 ¥ T ArArsE # greg w7 e 32
Options:

1) coal gas

e v

2) producer gas

FArmTaT e

3) water gas

Bk

4) gobar gas

e drer

Correct Answer: water gas
T T

Candidate Answer: water gas
e T

QID : 62 - Name the gas which is useda .» #a osons in the place of hydrogen?

FTEAA ¥ FATH O A W TEAHTe A4 AT 7
Options:

1) nitrogen

ATZE AT

2) helium

3) neon
AT

4) argon
Bl

Correct Answer: helium

Ffers

Candidate Answer: helium

Fferm

QID : 63 - Isobar is produced by the emission of which of the following?

Frafofira % # frer ease  arearios #1 Fef g 87



Options:

1) X-ray

T

2) Gamma ray

AT T

3) Beta ray

&z frm

4) Alpha ray

e T

Correct Answer: Gamma ray
T FEE

Candidate Answer: X-ray

QID : 64 - Which of the following consists of the highest biodiversity?

Fraferfara % # waiters S e =t ot w37
Options:

1) Tropical rainforest

FomEfrafr =t =

2) Temperate forest

i 7

3) Deciduous forest

THEE A

4) Grass land

=T i

Correct Answer: Tropical rainforest
FomEfrafrT =t =

Candidate Answer: Temperate forest
FrRfrEreT 7

QID : 65 - Which among the following is key faunal species that is being conserved and e -"*oied in "Dachigam National Park’?

e 7 ¥ Fr T TR 1 == qower o # e § s Fmare e e ey o
Options: o
1) Musk Deer

2) Golden Oriole

TireeA gifveer

3) Marten

wET

4) Hangul

sl

Correct Answer: Hangul
Fus

Candidate Answer: Marten

-

AT

QID : 66 - Which of the following cravs « ~ . sed for producing Bio fuels?

A B F TR F o e W A M T T S FEr A
Options:

1) Sugar cane

=

2) Corn

wET

3) Jatropha

HEART

4) All options are correct

wft BT wlr §

Correct Answer: All options are correct
Candidate Answer: All options are correct

it B wr §

QID : 67 - The intensified version of which mission was recently launched by Prime Minister of India at Vadnagar in October 20177

FzAT 2017 W AR F T 7 AT | e T F S e 5 e e e



Options:

1) Smart City Mission

re R e

2) Mission Indra

i =

3) Mission Indradhanush

Fororr Zzsrg

4) Mission Swarna Jyoti

Torere ==t ==

Correct Answer: Mission Indradhanush
Forer g

Candidate Answer: Smart City Mission
wATE T o

QID : 68 - India has declared 2010-2020 as the decade of

ST A 2010-2020 57 T ¥ = =

Options:
1) Modernisation

2) Innovation

AT (ZATEYTA)

3) Invention

=TT

4) Inspiration

ST =

Correct Answer: Innovation
TATHT (ZATT)

Candidate Answer: Modernisation

AT
QID : 69 - Indian railways is working with which organisation to make trains safer?

AT TErE ZAT FT gl wA F T fey Ay s T g 37
Options:

1) DRDO

T

2) ISRO

T

3) NALSAR

AT

4) ICAR

g

Correct Answer: ISRO

AT

Candidate Answer: NALSAR
AT

QID : 70 - Who has won the 2017 Wemsz 's - ngles National Badminton Championships?

B 2017 wige we i Aty o w37
Options:

1) Shriyanshi Pardeshi

Brarofi araeft

2) Prajakta Sawant

ATATT AT

3) Saina Nehwal

FTZAT AZATT

4) PV Sindhu

o7, Fong

Correct Answer: Saina Nehwal
FTZAT AFETer

Candidate Answer: PV Sindhu

o v, fog

QID : 71 - Which country will host the 8 Edition of FIFA Women's World Cup in 20197

T 7T Fo1 201 O F iy wiEew Bpa w7 F 8 wewow FF AT wem?



Options:

1) Chile

et

2) Russia

=T

3) France

W

4) Germany

HEAT

Correct Answer: France
T

Candidate Answer: Germany
AT

QID : 72 - With which following neighbouring country India had joint training exercise "Mitra Shakti 2017” in October 20177

Fraferfar % # ey T2t Tor % v e 7 awEe 2017 % "Rer ofsE 2017" 7 e B ar?

Options:
1) Bhutan

ST

2) Nepal

AT

3) Sri Lanka

Pitical

4) Bangladesh

AT

Correct Answer: Sri Lanka
AT

Candidate Answer: Bangladesh
v

QID : 73 - What is the most popular sport in Nepal?

AT T TR AT I T AT g7
Options:
1) Football

2) Cricket
[z
3) Trekking

4) Baseball

Sl

Correct Answer: Football
AT

Candidate Answer: Trekking
AT

QID : 74 - Who is the winner of the Man Bea "er International Prize 20177

B T AT T 2017 ¥ Peiaie 37
Options:

1) Arundhati Roy

Eic iy

2) David Grossman

2P i

3) Vikram Seth

w7

4) No option is correct

w78 P T A F

Correct Answer: David Grossman
2T aieda

Candidate Answer: Vikram Seth
[Eea ki

QID : 75 - Who has been awarded with France's highest civilian honour 'Legion of Honour' recently?

BT ET T ¥ ATy A AT A 4T dtAe # T e e e 82



Options:

1) Amitabh Bachchan

ArEETT T

2) Dilip Kumar

et gue

3) Shahrukh Khan

STEE T

4) Sounmitra Chatterjee

iR =it

Correct Answer: Sounmitra Chatterjee
e =it

Candidate Answer: Amitabh Bachchan
ATHATT T

QID : 76 - India jumped over 30% ranks in the ease of doing business list issued by World Bank. What is its rank?

Fra &% Ft ‘== 9w g3 Rrewe = WA w1 Y 30 9F 0 = T o = e
Options:

1) 100th

100

2) 130t

1307

3) 125t

125-fF

4) 155t

1557

Correct Answer: 100th
100t

Candidate Answer: 100th
100-F

QID : 77 - According to the report of Bank of America, India is likely to overtake which - atien a+ the world's third largest economy by 2028?

& At At F Foue e, e 2028w Fer Far 51 mgreww Gea ff ot cmw o s F = T anr B e g
Options:

1) France —
T

2) Russia

=

3) Pakistan

AT

4) Japan

AT

Correct Answer: Japan

Bl

Candidate Answer: Russia

=T

QID : 78 - As per data released kv the IMF in November 2017, which country ranked the world's richest country in terms of per capita GDP?

AT 2017 § ATETETE T A N T F AT, O S ST F wreer # Fe s gfm F e i fer 5 e grtere e
Options:
1) Brunei

Ei

2) Qatar
L

3) Kuwait

4) freland
AATHE

Correct Answer: Qatar
AT

Candidate Answer: Kuwait

kil

QID : 79 - Which country has partnered India in its first private sector missile subsystems manufacturing facility near Hyderabad?

B For & wreA F wger el der % Prereer walRreew & argy e & e Rt qiter § anferd £ 82



Options:

1) Canada

FATET

2) Russia

=T

3) Israel

ESRES)

4) No option is correct
1 P i A g
Correct Answer: Isras|
I

Candidate Answer: Russia
=

QID : 80 - The Odisha Govt has imposed a 7 months ban on sea fishing activity in order to protect which of the following sea animal?

artEren e 7 e gl g FF v F Pory T g f nfAfARET 07 7 W w7 ot e R
Options:

1) Crocodile

W

2) Turtle

g

3) Shark

o

4) No option is correct

1% P it A 7
Correct Answer: Turtle
g

Candidate Answer: Turtle
g

QID : 81 - New species of edible fish is found in Pampa river. The river is located in whi;;h-_gf_tn.—_"\:\llowing state?

=T Wt 7 AL Ty A F e g e

Options:
1) Karataka

2) Tamil Nadu

R

3) Kerala

B
("]

)

o0a

orrect Answer: Kerala

e

Candidate Answer: Tamil Nadu
AT

QID : 82 - Who has been appointed a5 an~ ¢ airman of State Bank of India in October 20177

IFTET 2017 B ATAT BT i F v ¢ ¥ e g e

Options:

1) Arundhati Ghosh

T =T

2) Ashwani Kumar

AT AT

3) Rajnish Kumar

THATI FHIT

4) Hashmukh Adhia

Fore fer

Correct Answer: Rajnish Kumar
THATIT FHTE

Candidate Answer: Rajnish Kumar
THATO FHIT

QID : 83 - Who of the following crowned Miss World 20177

e # 77 e Toer = 2017 %7 e TgemEr T 3



Options:

1) Stephanie Hill

2) Andrea Meza

e g T

3) Manushi Chhillar

AT R

4) No option is correct

=1 el 7Y ¢

Correct Answer: Manushi Chhillar
At e

Candidate Answer: Manushi Chhillar

At R

QID : 84 - Which of the following has been named as "World Book Capital” for 2019 by UNESCO?

Frafat % 7 frr oge £7 399 2T 2019 F o "aed g% ST’ ¥ = % A FEy w32
Options:

1) New Delhi

A2 et

2) Sharjah

WTTATE

3) New York

=it

4) London

=T

Correct Answer: Sharjah
WTTATE

Candidate Answer: London
=T

QID : 85 - Which of the following villages in Jammu and Kashmir became first to go cashless2

T AT FYET F A AT AT T FT TFIN AFE I =T A
Options:
1) Lanura

il

2) Pampore

L1k

3) Lanura and Pampore Both

AT # S =

4) No option is correct

1% Py i A 7

Correct Answer: Lanura

g

Candidate Answer: Lanura and Pampore Bo'

QID : 86 - Ifx and y are even numb="s, .* » ‘which of the following is an odd number?

o x T y AF #E F, A7 FEta e T v A o frrw = 3
Options:

1) ¥

2) xy

3) x+ y+ xy
Px+p+1

Correct Answer: x+ y+ 1
Candidate Answer: x+ y+ 1

QID : 87 - How many times the digit 7 appears in the numbers from 0 to 1087

% 7, et 0 # 108 =% Fraet are e 8?7
Options:

1) 20

2)19

3)21

4)22

Correct Answer: 21

Candidate Answer: 21



QID : 88 -

. 1 3 3
= e )
What|slhevalueof52+74+88.

1 3 3
2 N A ?
52+74+88 @ HIeT T &7

Options:

1) 173/8

2)171/8

3)81/4

4)87/4

Correct Answer: 173/8
Candidate Answer: 171/8

QID : 89 - For what value of N, 43N is divisible by 97

N & foer w7 & fomr 43N, 9 # e 7

Cormrect Answer: 2
Candidate Answer: 2

QID : 90 -

(0.6x 0.6x0.6) + (0.5x0.5x0.5)

What is the value of
(0.6x086)+(0.5=205)-0.3

(0.6x 0.6 0.6) « (0.5x 0.5 0.5)

ol AT HT &7
(06x06)+(05%05)03 €

Correct Answer: 1.1
Candidate Answer: 0.1

QID : 91 - If 90 is subtracted form 70% ofa: 'moc ~en the resultis 120. What is the value of the number?

=fE Tt 2 F 70% F # 90 T AT AT 7w~ 120 FTET F1 AT F A FWE?

Options: T
1) 300
2) 150
3) 450
4) 270

Correct Answer: 300
Candidate Answer: 300
QID : 92 - The ratio of copper and zinc in brass is 11 : 14. How much amount (in kg) of copper will be there in 150 kg of brass?

ofrerer 7 #tEr AT e T A 11 14 #1150 Fea, dreer § ater S w5 (B, F) freed gei?

3) 66

4)78

Cormrect Answer: 66
Candidate Answer: 44

QID : 93 - What is average of first 8 even numbers?

TR § FH FEATT T AT T 7



